TABULATION SHEET BID NO. 2017-007-6631 Annua HVAC Air Filters	al Contract for			VENDOR #1 Mavich LLC		VENDOR #2 F.M. Shelton, Inc.		VENDOR #3 J.F. Filtration, Inc. dba Joe W. Fly Co. Inc.		VENDOR #4 Tex-Air Filters	
				525 Commerce Street		1434 Ralph David Abernathy Blvd. SW Unit		P.O. Box 560666		5757 East Rosedale	
				Southlake Tx Faith Gordon		Atlanta, GA 30310-1692 Fawn Shelton		Dallas, TX 75356-0666 Cody Bateman		Ft. Worth, TX 76112 Scott O'Neal	
Opening Date: November 17, 2	016			Tel: 682-438-5992 Fax:		Tel: 404-755-9448 Fax: 404-756-9571		Tel: 214-634-2200 Fax: 214-634-7928		Tel: 214-244-5618	
DESCRIPTION:		Est. Qty.									
MBE/WBE/DBE and/or HUB Was EEO1 form returned with Was Addendum returned with	bid?			Yes Yes No		Yes Yes Yes		Yes Yes No		No Yes Yes	
Section 1 - Roll Filters Size: 20"W X 90"L X 1" thick, p	olyester media,	8	rolls	\$36.36	\$290.88	\$47.81	\$382.48	\$63.00	\$504.00	\$52.50	\$420.00
dry tackifier, blue/white, MERV Manufacturer: ProFitter® or equa #4302851	7,										
Size: 30"W X 90"L X 1" thick, p dry tackifier, blue/white, MERV Manufacturer: ProFitter® or equa #4302854	7,	8	rolls	\$52.88	\$423.04	\$71.71	\$573.68	\$94.50	\$756.00	\$78.75	\$630.00
Size: 60"W X 90"L X 1" thick, p dry tackifier, blue/white, MERV Manufacturer: ProFitter® or equa #4302860	7,	13	rolls	\$111.17	\$1,445.21	\$142.04	\$1,846.52	\$189.00	\$2,457.00	\$157.50	\$2,047.50
Total - Section 1					\$2,159.13		\$2,802.68		\$3,717.00		\$3,097.50
Section 2 - Automatic Roll Filt Size: 45"W X 65"L X 1" thick, p for Farr Model 40F and 42 F, Fa: 07497 or equal	olyester media,	16	rolls	\$108.45	\$1,735.20	\$98.57	\$1,577.12	\$130.00	\$2,080.00	\$124.40	\$1,990.40
Size: 57"W X 65"L X 1" thick, p 5 for Farr Model 50F and 52 F, Fa:		12	rolls	\$129.11	\$1,549.32	\$121.67	\$1,460.04	\$165.00	\$1,980.00	\$177.32	\$2,127.84
07496 or equal Total - Section 2					\$3,284.52		\$3,037.16		\$4,060.00		\$4,118.24
Section 3 - Pleated Air Filters, Size: 10W X 24"H X 1"D, synth 6 30-35% efficiency, MERV 8, M. ProFitter® or equal, Fastenal No.	etic fiber media, anufacturer:	36	each	\$3.20	\$115.20	\$3.10	\$111.60	\$4.59	\$165.24	\$0.00	\$0.00
Size: 12W X 12"H X 1"D, synth 7 30-35% efficiency, MERV 8, M ProFitter® or equal, Fastenal No.	anufacturer:	504	each	\$2.80	\$1,411.20	\$2.82	\$1,421.28	\$2.47	\$1,244.88	\$0.00	\$0.00
Size: 14W X 24"H X 1"D, synth 8 30-35% efficiency, MERV 8, M ProFitter® or equal, Fastenal No.	anufacturer:	84	each	\$3.58	\$300.72	\$3.36	\$282.24	\$3.58	\$300.72	\$0.00	\$0.00

TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #1 Mavich LLC		VENDOR #2 F.M. Shelton, Inc.		VENDOR #3 J.F. Filtration, Inc. dba Joe W. Fly Co. Inc.		VENDOR #4 Tex-Air Filters	
			525 Commerce Street		1434 Ralph David Abernathy Blvd. SW Unit		P.O. Box 560666		5757 East Rosedale	
Opening Date: November 17, 2016			Southlake Tx Faith Gordon Tel: 682-438-5992 Fax:		Atlanta, GA 30310-1692 Fawn Shelton Tel: 404-755-9448 Fax: 404-756-9571		Dallas, TX 75356-0666 Cody Bateman Tel: 214-634-2200 Fax: 214-634-7928		Ft. Worth, TX 76112 Scott O'Neal Tel: 214-244-5618	
DESCRIPTION:	Est. Qty.									
Size: 16W X 16"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300412	108	each	\$2.29	\$247.32	\$2.98	\$321.84	\$3.15	\$340.20	\$0.00	\$0.00
Size: 16W X 20"H X 1"D, synthetic fiber media, 10 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300413	216	each	\$2.79	\$602.64	\$2.21	\$477.36	\$2.58	\$557.28	\$0.00	\$0.00
Size: 16W X 25"H X 1"D, synthetic fiber media, 11 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300543	144	each	\$3.09	\$444.96	\$3.00	\$432.00	\$2.73	\$393.12	\$0.00	\$0.00
Size: 16W X 25"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300416	108	each	\$3.03	\$327.24	\$2.48	\$267.84	\$2.73	\$294.84	\$0.00	\$0.00
Size: 18W X 18"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300418	12	each	\$3.30	\$39.60	\$3.37	\$40.44	\$3.50	\$42.00	\$0.00	\$0.00
Size: 18W X 26"H X 1"D, synthetic fiber media, 14 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 10473-07105	12	each	\$10.68	\$128.16	\$7.07	\$84.84	\$6.43	\$77.16	\$0.00	\$0.00
Size: 20W X 20"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300424	336	each	\$2.56	\$860.16	\$2.47	\$829.92	\$2.77	\$930.72	\$0.00	\$0.00
Size: 20W X 25"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300427	300	each	\$3.29	\$987.00	\$2.87	\$861.00	\$2.98	\$894.00	\$0.00	\$0.00
Size: 20W X 30"H X 1"D, synthetic fiber media, 17 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300428	48	each	\$3.96	\$190.08	\$4.29	\$205.92	\$4.47	\$214.56	\$0.00	\$0.00
Size: 12"W X 24"H X 2"D, synthetic fiber media, 18 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492501	952	each	\$2.72	\$2,589.44	\$2.62	\$2,494.24	\$2.89	\$2,751.28	\$0.00	\$0.00
Size: 16"W X 24"H X 2"D, synthetic fiber media, 19 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492506	48	each	\$3.34	\$160.32	\$3.12	\$149.76	\$3.10	\$148.80	\$0.00	\$0.00
Size: 16"W X 25"H X 2"D, synthetic fiber media, 20 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492503	84	each	\$2.78	\$233.52	\$2.71 Page 2 of 10	\$227.64	\$3.27	\$274.68	\$0.00	\$0.00

	TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #1 Mavich LLC		VENDOR #2 F.M. Shelton, Inc.		VENDOR #3 J.F. Filtration, Inc. dba Joe W. Fly Co. Inc.		VENDOR #4 Tex-Air Filters	
				525 Commerce Street		1434 Ralph David Abernathy Blvd. SW Unit		P.O. Box 560666		5757 East Rosedale	
	Opening Date: November 17, 2016			Southlake Tx Faith Gordon Tel: 682-438-5992 Fax:		1 Atlanta, GA 30310-1692 Fawn Shelton Tel: 404-755-9448 Fax: 404-756-9571		Dallas, TX 75356-0666 Cody Bateman Tel: 214-634-2200 Fax: 214-634-7928		Ft. Worth, TX 76112 Scott O'Neal Tel: 214-244-5618	
	DESCRIPTION:	Est. Qty.									
21	Size: 20"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492505	252	each	\$2.96	\$745.92	\$2.68	\$675.36	\$3.30	\$831.60	\$0.00	\$0.00
22	Size: 20"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492507	120	each	\$3.61	\$433.20	\$3.55	\$426.00	\$3.56	\$427.20	\$0.00	\$0.00
23	Size: 20"W X 30"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300446	60	each	\$6.91	\$414.60	\$4.25	\$255.00	\$5.21	\$312.60	\$0.00	\$0.00
24	Size: 24"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492508	1472	each	\$3.81	\$5,608.32	\$3.56	\$5,240.32	\$3.94	\$5,799.68	\$0.00	\$0.00
25	Size: 25"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492504	24	each	\$3.30	\$79.20	\$3.15	\$75.60	\$3.63	\$87.12	\$0.00	\$0.00
	Total - Section 3				\$15,918.80		\$14,880.20		\$16,087.68		\$0.00
26	Section 4 - Pleated Air Filters, Wire Backed Size: 17'W X 30"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300599	84	each	\$6.25	\$525.00	\$7.49	\$629.16	\$5.15	\$432.60	\$4.97	\$417.48
27	Size: 18'W X 22"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300468	12	each	\$3.59	\$43.08	\$5.85	\$70.20	\$5.50	\$66.00	\$4.19	\$50.28
28	Size: 20"W X 30"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300475	24	each	\$3.96	\$95.04	\$5.16	\$123.84	\$3.85	\$92.40	\$3.46	\$83.04
29	Size: 12"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300482	276	each	\$2.72	\$750.72	\$3.22	\$888.72	\$2.57	\$709.32	\$2.44	\$673.44
30	Size: 16"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300488	408	each	\$3.30	\$1,346.40	\$2.77	\$1,130.16	\$2.57	\$1,048.56	\$2.38	\$971.04

	TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #1 Mavich LLC		VENDOR #2 F.M. Shelton, Inc.		VENDOR #3 J.F. Filtration, Inc. dba Joe W. Fly Co. Inc.		VENDOR #4 Tex-Air Filters	
				525 Commerce Street		1434 Ralph David Abernathy Blvd. SW Unit		P.O. Box 560666		5757 East Rosedale	
	Opening Date: November 17, 2016			Southlake Tx Faith Gordon Tel: 682-438-5992 Fax:		1 Atlanta, GA 30310-1692 Fawn Shelton Tel: 404-755-9448 Fax: 404-756-9571		Dallas, TX 75356-0666 Cody Bateman Tel: 214-634-2200 Fax: 214-634-7928		Ft. Worth, TX 76112 Scott O'Neal Tel: 214-244-5618	
	DESCRIPTION:	Est.									
31	Size: 16"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300489	Qty. 36 eac	ch	\$3.34	\$120.24	\$3.99	\$143.64	\$2.84	\$102.24	\$2.90	\$104.40
32	Size: 16"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300490	358 ea	eh	\$2.78	\$995.24	\$3.23	\$1,156.34	\$2.84	\$1,016.72	\$2.71	\$970.18
33	Size: 18"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300495	80 ea	ch	\$3.54	\$283.20	\$4.29	\$343.20	\$3.41	\$272.80	\$2.83	\$226.40
34	Size: 20"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300497	36 ea	ch	\$2.57	\$92.52	\$3.23	\$116.28	\$2.84	\$102.24	\$2.90	\$104.40
35	Size: 20"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300499	540 ea	eh	\$3.30	\$1,782.00	\$3.92	\$2,116.80	\$3.14	\$1,695.60	\$3.01	\$1,625.40
36	Size: 16"W X 20"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300506	203 ea	eh	\$5.44	\$1,104.32	\$5.42	\$1,100.26	\$4.98	\$1,010.94	\$4.13	\$838.39
37	Size: 16"W X 25"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300508	147 ea	eh	\$6.13	\$901.11	\$5.72	\$840.84	\$5.43	\$798.21	\$4.42	\$649.74
38	Size: 20"W X 20"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300510	96 ea	ch	\$6.13	\$588.48	\$5.76	\$552.96	\$5.43	\$521.28	\$4.43	\$425.28
39	Size: 20"W X 25"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300512	16 ea	ch	\$7.19	\$115.04	\$6.45	\$103.20	\$6.02	\$96.32	\$4.87	\$77.92
40	Size: 24"W X 24"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300513	180 ea	ch	\$6.62	\$1,191.60	\$6.96	\$1,252.80	\$6.39	\$1,150.20	\$5.68	\$1,022.40
	Total - Section 4				\$9,933.99		\$10,568.40		\$9,115.43		\$8,239.79
	Section 5 -HEPA Filters										
41	Size: 24"W X 12"H X 11-1/2"D, microglass media, 95% DOP, Manufacturer: ProFitter® or equal, Fastenal No. 4303030	8 eac	ch	\$155.09	\$1,240.72	\$173.94	\$1,391.52	\$110.00	\$880.00	\$49.42	\$395.36
					l	Page 4 of 10	<u> </u>				

TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters	VENDOR #1 Mavich LLC 525 Commerce Street	VENDOR #2 F.M. Shelton, Inc. 1434 Ralph David Abernathy Blvd. SW Unit	VENDOR #3 J.F. Filtration, Inc. dba Joe W. Fly Co. Inc. P.O. Box 560666	VENDOR #4 Tex-Air Filters 5757 East Rosedale
Opening Date: November 17, 2016	Southlake Tx Faith Gordon Tel: 682-438-5992 Fax:	Atlanta, GA 30310-1692 Fawn Shelton Tel: 404-755-9448 Fax: 404-756-9571	Dallas, TX 75356-0666 Cody Bateman Tel: 214-634-2200 Fax: 214-634-7928	Ft. Worth, TX 76112 Scott O'Neal Tel: 214-244-5618
DESCRIPTION: Est. Otv.				
Size: 24"W X 12"H X 11-1/2"D, microglass media, 64 each 42 95% DOP, Manufacturer: ProFitter® or equal, Fastenal No. 4303030	\$207.65 \$13,289.60	\$212.27 \$13,585.28	\$160.00 \$10,240.00	\$64.10 \$4,102.40
Size: 12"W X 24"H X 12"D, with Header, carbon 8 each 43 media, 95% DOP, effeciency, MERV 8, Fastenal No. 10473-07519	Deleted per Addendum No. 1	Deleted per Addendum No. 1	Deleted per Addendum No. 1	Deleted per Addendum No. 1
Size: 24"W X 24"H X 12"D, with Header, carbon 44 media, 95% DOP efficiency, MERV 8, Fastenal No. 10473-07518 or equal	Deleted per Addendum No. 1	Deleted per Addendum No. 1	Deleted per Addendum No. 1	Deleted per Addendum No. 1
Total - Section 5	\$14,530.32	\$14,976.80	\$11,120.00	\$4,497.76
Section 6 - Rigid Cell Filters				
Size: 24"W X 12"H X 12"D, fiberglass media, 43 each single header, 85% effeciency, MERV 13, Manufacturer: ProFitter® or equal, Fastenal No. 4301713	\$151.21 \$6,502.03	\$43.47 \$1,869.21	\$42.00 \$1,806.00	\$38.50 \$1,655.50
Size: 24"W X 24"H X 12"D, fiberglass media, 155 each single header, 85% effeciency, MERV 13, Manufacturer: ProFitter® or equal, Fastenal No. 4301716	\$49.62 \$7,691.10	\$70.09 \$10,863.95	\$58.50 \$9,067.50	\$48.75 \$7,556.25
Total - Section 6	\$14,193.13	\$12,733.16	\$10,873.50	\$9,211.75
	\$60,019.89	\$58,998.40	\$54,973.61	29165.04
	l.	<u> </u>		<u> </u>

	TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #5 Filter Systems		VENDOR #6 Fastenal		VENDOR #7 Allison Enterprises dba Kleen Air Filter Service & Sales		VENDOR #8 Home Depot U.S.A., Inc. d/b/a The Home Depot store #6816	
	Opening Date: November 17, 2016			9000 Sovereign Row Dallas, TX 75247 Kyle Northcutt Tel: 214-630-4557 Fax: 214-630-7765		2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548 Fax: 507-494-3118		102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786		2610 Fort Worth Avenue Dallas, TX 75211 Richard Nyberg Tel: 866-589-0690 Fax: 866-589-0691	
	DESCRIPTION:	Est. Qty.									
	MBE/WBE/DBE and/or HUB Certified Vendor Was EEO1 form returned with bid? Was Addendum returned with bid?			No Yes Yes		No Yes Yes		Yes Yes Yes		No No No	
	Section 1 - Roll Filters									<mark>-</mark>	
1	Size: 20"W X 90"L X 1" thick, polyester media, dry tackifier, blue/white, MERV 7, Manufacturer: ProFitter® or equal, Fastenal #4302851	8	rolls	\$27.60	\$220.80	\$24.57	\$196.56	\$20.25	\$162.00	\$31.83	\$254.64
2	Size: 30"W X 90"L X 1" thick, polyester media, dry tackifier, blue/white, MERV 7, Manufacturer: ProFitter* or equal, Fastenal #4302854	8	rolls	\$41.40	\$331.20	\$38.56	\$308.48	\$30.35	\$242.80	\$47.73	\$381.84
3	Size: 60"W X 90"L X 1" thick, polyester media, dry tackifier, blue/white, MERV 7, Manufacturer: ProFitter* or equal, Fastenal #4302860	13	rolls	\$82.80	\$1,076.40	\$96.39	\$1,253.07	\$60.75	\$789.75	\$107.04	\$1,391.52
	Total - Section 1				\$1,628.40		\$1,758.11		\$1,194.55		\$2,028.00
	Section 2 - Automatic Roll Filters									<mark>-</mark>	
4	Size: 45 "W X 65 "L X 1" thick, polyester media, for Farr Model 40 F and 42 F, Fastenal No. 10473 - 07497 or equal		rolls	\$85.51	\$1,368.16	\$114.95	\$1,839.20	\$91.14	\$1,458.24	\$0.00	\$0.00
5	Size: 57"W X 65"L X 1" thick, polyester media, for Farr Model 50F and 52 F, Fastenal No. 10473-07496 or equal		rolls	\$100.44	\$1,205.28	\$137.65	\$1,651.80	\$107.30	\$1,287.60	\$0.00	\$0.00
	Total - Section 2				\$2,573.44		\$3,491.00		\$2,745.84	<mark>-</mark>	\$0.00
6	Section 3 - Pleated Air Filters, Self Supporting Size: 10W X 24"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300393	36	each	\$0.00	\$0.00	\$2.04	\$73.44	\$1.72	\$61.92	\$4.56	\$164.16
7	Size: 12W X 12"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300396	504	each	\$0.00	\$0.00	\$1.98	\$997.92	\$1.51	\$761.04	\$2.83	\$1,426.32
8	Size: 14W X 24"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300405	84	each	\$0.00	\$0.00	\$2.26	\$189.84	\$2.15	\$180.60	\$5.21	\$437.64

	TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #5 Filter Systems		VENDOR #6 Fastenal		VENDOR #7 Allison Enterprises dba Kleen Air Filter Service & Sales		VENDOR #8 Home Depot U.S.A., Inc. d/b/a The Home Depot store #6816	
	Opening Date: November 17, 2016			9000 Sovereign Row Dallas, TX 75247 Kyle Northcutt Tel: 214-630-4557 Fax: 214-630-7765		2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548 Fax: 507-494-3118		102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786		2610 Fort Worth Avenue Dallas, TX 75211 Richard Nyberg Tel: 866-589-0690 Fax: 866-589-0691	
	DESCRIPTION:	Est.									
9	Size: 16W X 16"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300412	Qty. 108	each	\$0.00	\$0.00	\$2.26	\$244.08	\$1.86	\$200.88	\$4.14	\$447.12
10	Size: 16W X 20"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300413	216	each	\$0.00	\$0.00	\$1.75	\$378.00	\$1.79	\$386.64	\$2.76	\$596.16
11	Size: 16W X 25"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300543	144	each	\$0.00	\$0.00	\$2.78	\$400.32	\$2.15	\$309.60	\$3.10	\$446.40
12	Size: 16W X 25"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300416	108	each	\$0.00	\$0.00	\$1.89	\$204.12	\$2.07	\$223.56	\$3.10	\$334.80
13	Size: 18W X 18"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300418	12	each	\$0.00	\$0.00	\$2.26	\$27.12	\$2.27	\$27.24	\$5.81	\$69.72
14	Size: 18W X 26"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 10473-07105	12	each	\$0.00	\$0.00	\$6.44	\$77.28	\$4.59	\$55.08	\$5.74	\$68.88
15	Size: 20W X 20"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300424	336	each	\$0.00	\$0.00	\$1.89	\$635.04	\$2.04	\$685.44	\$3.10	\$1,041.60
16	Size: 20W X 25"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300427	300	each	\$0.00	\$0.00	\$2.08	\$624.00	\$2.34	\$702.00	\$3.59	\$1,077.00
17	Size: 20W X 30"H X 1"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300428	48	each	\$0.00	\$0.00	\$4.18	\$200.64	\$2.80	\$134.40	\$4.23	\$203.04
18	Size: 12"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 0492501	952	each	\$1.93	\$1,837.36	\$1.93	\$1,837.36	\$1.85	\$1,761.20	\$2.91	\$2,770.32
19	Size: 16"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 0492506	48	each	\$2.51	\$120.48	\$2.14	\$102.72	\$2.22	\$106.56	\$3.79	\$181.92
20	Size: 16"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 0492503	84	each	\$2.20	\$184.80	\$1.97	\$165.48	\$2.11	\$177.24	\$3.16	\$265.44

BII	BULATION SHEET D NO. 2017-007-6631 Annual Contract for AC Air Filters			VENDOR #5 Filter Systems		VENDOR #6 Fastenal			VENDOR #7 Allison Enterprises dba Kleen Air Filter Service & Sales		VENDOR #8 Home Depot U.S.A., Inc. d/b/a The Home Depot store #6816	
Ор	ening Date: November 17, 2016			9000 Sovereign Row Dallas, TX 75247 Kyle Northcutt Tel: 214-630-4557 Fax: 214-630-7765		2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548 Fax: 507-494-3118			102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786		2610 Fort Worth Avenue Dallas, TX 75211 Richard Nyberg Tel: 866-589-0690 Fax: 866-589-0691	
DE	SCRIPTION:	Est. Qty.										
21 30-	e: 20"W X 20"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter® or equal, Fastenal No. 0492505	252	each	\$2.24	\$564.48	\$1	1.90	\$478.80	\$2.17	\$546.84	\$3.16	\$796.32
22 30-	e: 20"W X 24"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter® or equal, Fastenal No. 0492507	120	each	\$2.62	\$314.40	\$2	2.37	\$284.40	\$2.54	\$304.80	\$3.79	\$454.80
23 30-	e: 20"W X 30"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter® or equal, Fastenal No. 4300446	60	each	\$5.18	\$310.80	\$3	3.84	\$230.40	\$2.52	\$151.20	\$7.97	\$478.20
24 30-	e: 24"W X 24"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter® or equal, Fastenal No. 0492508	1472	each	\$2.86	\$4,209.92	\$2	2.36	\$3,473.92	\$3.20	\$4,710.40	\$4.19	\$6,167.68
25 30-	e: 25"W X 20"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter* or equal, Fastenal No. 0492504	24	each	\$2.55	\$61.20	\$2	2.14	\$51.36	\$2.69	\$64.56	\$3.64	\$87.36
Tot	tal - Section 3				\$7,603.44			\$10,676.24		\$11,551.20		\$17,514.88
Siz 26 30-	etion 4 - Pleated Air Filters, Wire Backed e: 17'W X 30"H X 1"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter* or equal, Fastenal No. 4300599	84	each	\$5.92	\$497.28	\$6	5.62	\$556.08	\$4.53	\$380.52	\$6.13	\$514.92
30-	e: 18'W X 22"H X 1"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter* or equal, Fastenal No. 4300468	12	each	\$4.96	\$59.52	\$3	3.14	\$37.68	\$3.95	\$47.40	\$5.20	\$62.40
28 30-	e: 20"W X 30"H X 1"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter® or equal, Fastenal No. 4300475	24	each	\$2.71	\$65.04	\$3	3.16	\$75.84	\$2.80	\$67.20	\$4.23	\$101.52
29 30-	e: 12"W X 24"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter* or equal, Fastenal No. 4300482	276	each	\$2.08	\$574.08	\$2	2.37	\$654.12	\$1.85	\$510.60	\$2.91	\$803.16
30 30-	e: 16"W X 20"H X 2"D, synthetic fiber media, 35% efficiency, MERV 8, Manufacturer: Fitter® or equal, Fastenal No. 4300488	408	each	\$2.09	\$852.72	\$2	2.37	\$966.96	\$1.78	\$726.24	\$2.77	\$1,130.16

	TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #5 Filter Systems		VENDOR #6 Fastenal		VENDOR #7 Allison Enterprises dba Kleen Air Filter Service & Sales		VENDOR #8 Home Depot U.S.A., Inc. d/b/a The Home Depot store #6816	
	Opening Date: November 17, 2016			9000 Sovereign Row Dallas, TX 75247 Kyle Northcutt Tel: 214-630-4557 Fax: 214-630-7765		2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548 Fax: 507-494-3118		102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786		2610 Fort Worth Avenue Dallas, TX 75211 Richard Nyberg Tel: 866-589-0690 Fax: 866-589-0691	
	DESCRIPTION:	Est.									
31	Size: 16"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300489	Qty. 36	each	\$2.67	\$96.12	\$2.58	\$92.88	\$2.22	\$79.92	\$3.79	\$136.44
32	Size: 16"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300490	358	each	\$2.39	\$855.62	\$2.58	\$923.64	\$2.11	\$755.38	\$3.16	\$1,131.28
33	Size: 18"W X 24"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300495	80	each	\$2.52	\$201.60	\$2.87	\$229.60	\$2.39	\$191.20	\$3.79	\$303.20
34	Size: 20"W X 20"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300497	36	each	\$2.43	\$87.48	\$2.58	\$92.88	\$2.17	\$78.12	\$3.16	\$113.76
35	Size: 20"W X 25"H X 2"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300499	540	each	\$2.62	\$1,414.80	\$2.87	\$1,549.80	\$2.52	\$1,360.80	\$3.64	\$1,965.60
36	Size: 16"W X 20"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300506	203	each	\$3.51	\$712.53	\$3.88	\$787.64	\$3.56	\$722.68	\$5.33	\$1,081.99
37	Size: 16"W X 25"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300508	147	each	\$3.78	\$555.66	\$4.21	\$618.87	\$4.04	\$593.88	\$5.60	\$823.20
38	Size: 20"W X 20"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300510	96	each	\$3.75	\$360.00	\$4.21	\$404.16	\$4.00	\$384.00	\$5.60	\$537.60
39	Size: 20"W X 25"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter® or equal, Fastenal No. 4300512	16	each	\$4.31	\$68.96	\$4.94	\$79.04	\$4.59	\$73.44	\$6.54	\$104.64
40	Size: 24"W X 24"H X 4"D, synthetic fiber media, 30-35% efficiency, MERV 8, Manufacturer: ProFitter* or equal, Fastenal No. 4300513	180	each	\$4.92	\$885.60	\$5.37	\$966.60	\$4.95	\$891.00	\$7.23	\$1,301.40
	Total - Section 4				\$7,287.01		\$8,035.79		\$6,862.38		\$10,111.27
	Section 5 -HEPA Filters										
41	Size: 24"W X 12"H X 11-1/2"D, microglass media, 95% DOP, Manufacturer: ProFitter® or equal, Fastenal No. 4303030	8	each	\$89.42	\$715.36	\$98.28	\$786.24	\$80.50	\$644.00	\$0.00	\$0.00

	TABULATION SHEET BID NO. 2017-007-6631 Annual Contract for HVAC Air Filters			VENDOR #5 Filter Systems		VENDOR #6 Fastenal		VENDOR #7 Allison Enterprises dba Kleen Air Filter Service & Sales		VENDOR #8 Home Depot U.S.A., Inc. d/b/a The Home Depot store #6816	
	Opening Date: November 17, 2016			9000 Sovereign Row Dallas, TX 75247 Kyle Northcutt Tel: 214-630-4557 Fax: 214-630-7765		2001 Theurer Blvd. Winona, MN 55987 Nick Lundquist Tel: 507-453-8548 Fax: 507-494-3118		102 E Yeaguia Grosbeck, TX 76642 Neal Allison Tel: 254-729-0254 Fax: 254-729-5786		2610 Fort Worth Avenue Dallas, TX 75211 Richard Nyberg Tel: 866-589-0690 Fax: 866-589-0691	
	DESCRIPTION:	Est. Qty.									
42	Size: 24"W X 12"H X 11-1/2"D, microglass media, 95% DOP, Manufacturer: ProFitter® or equal, Fastenal No. 4303030	64	each	\$131.04	\$8,386.56	\$138.60	\$8,870.40	\$98.50	\$6,304.00	\$0.00	\$0.00
43	Size: 12"W X 24"H X 12"D, with Header, carbon media, 95% DOP, effeciency, MERV 8, Fastenal No. 10473-07519	8	each	Deleted per Addendum No. 1		Deleted per Addendum No. 1		Deleted per Addendum No. 1		Deleted per Addendum No. 1	
44	Size: 24"W X 24"H X 12"D, with Header, carbon media, 95% DOP efficiency, MERV 8, Fastenal No. 10473-07518 or equal			Deleted per Addendum No. 1		Deleted per Addendum No. 1		Deleted per Addendum No. 1		Deleted per Addendum No. 1	
	Total - Section 5				\$9,101.92		\$9,656.64		\$6,948.00		\$0.00
	Section 6 - Rigid Cell Filters										
45	Size: 24"W X 12"H X 12"D, fiberglass media, single header, 85% effeciency, MERV 13, Manufacturer: ProFitter* or equal, Fastenal No. 4301713	43	each	\$41.66	\$1,791.38	\$47.50	\$2,042.50	\$35.36	\$1,520.48	\$72.83	\$3,131.69
46	Size: 24"W X 24"H X 12"D, fiberglass media, single header, 85% effeciency, MERV 13, Manufacturer: ProFitter* or equal, Fastenal No. 4301716	155	each	\$59.40	\$9,207.00	\$58.09	\$9,003.95	\$44.04	\$6,826.20	\$108.27	\$16,781.85
	Total - Section 6			:	\$ 10,998.38		\$11,046.45		\$8,346.68		\$19,913.54
	Grand Total				\$39,192.59		\$44,664.22		\$37,648.65		\$49,567.69